Unit IV

7. For the vector, a + i + 2j + 2k and b = 2i +
3j + k, obtain :
(i) The vector product a x b.
(i) The area of the parallelogram formed by

the two vectors a and b. 20

8. (a) Find unit vector in the direction of vector

a=2+3 +k 10
(b) Solve the following equation : 10
5 10—y

2y-6 )2 —6y+9
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Before answering the question-paper candidates should
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Note : Attempt Five questions in all, selecting at
least one question from each Unit.

Unit I

1. (a) Find the equation of a line through the
points (1, 2) and (3, 1). What is its slope ?
What is its y intercept ? 10
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31
(b) IfA= {_1 2}» show that : 10

A2 - 5A+71=0

2. Solve the following system of equations by
elimination : 20

le + 3X2 + ZX3 =3

4x1 — SX2 + SX3 = -7

—3x1 + 7X2 — ZX3 =35
Unit I1

3. Differentiate each of the following functions :

3z+9
@ WE =
4x
(b) A(x) = 2 20
1 65
4. (a) For given matrix |2 3 1| calculate the
02 4
determinant. 10
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(b)

dJ2
=2 10
dx
dy
(b) Ify=(x*+1)* 2x-5; find o 10
cosa  sino
6. (@) IfA= . » then verify that
—sina. cosa
A"A=1 10
(b) Express the matrix as the sum of a
symmetric and a skew symmetric matrix :
10
6 2 2
-2 3 -1
2 -1 3
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Show that the vectors @ =i + 3j + 4k and

b = -2i + 6j — 4k are perpendicular. 10

Unit II1

If x =422 + 5,y =622+ 7z + 3, find
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